Rev.Ver
020

Rev.Ver
021

evel

Production

Model Release Level
Production
awing Release L

Dr

8151662170 DIM

6151662170 _DIM

Model name

awing.

tly from the d

ons direc

Ne relevez jamais une cote sur le plan.

of get any dimens

Do n

5 tiers.

ommunicated to any other person or compa
notre permission,
nique a

and shall not without our permission

ty
ng or ¢

633

G

25 .4

T

@38

L87

]

1277

106

N

TN,

=z

157

138

60

our proper
manufacturi

02

_ Mounting Plafte Added

2023/08/09

FPA

ment est notre propriete et ne doit pas,sans

t
Jused for

01

Release for Production

2022703728

veU

d
copied

Ce

etre modifie,copie,utilise pour fabrication ou comm

This docume
docu

REV.N°

MODIFICATION DETAILS

DATE

YYYY/MM/DD

INIT |

O,

DESCRIPTION

EFD106-1100

EL

DATE  YyYy/MMDD

2022/03/28

1/2

DRG.SIZE MODEL NAME

A0 6151662170 DIM|" 0.000 Kg

RELEASE LEVEL

Production

SCALE BLANK DRG. ‘ PROTO DRG.

1.0

DRAWI

[ - 6151662170_DIM

Rev.

02




| : | Y ! | ’ L
>§>§ MOUNTING PLATE EFDS106 + TELESCOPIC MODULE
_c|® ¢ gﬁ A
25 se[=
L SECTION A-A == (x3) @9
g § S & [B01r B
= g @ i
g / L
al®
= = B
[ala]
R R 0.5x45" /—F— "1 TN\ 0.5x45° M12x1.75 - 6H ah <A M12x1.75 - 6H
S ' @, \
o5 3 N\ o/ -
g B ‘
—| . | -
- | 2 C
|
] I o Y Y + 777777777 Y
\ \
|
— |
o 8 g i g ] '
1x45 Ix45° = | =
— : O @ @ -
(x3) 0.5x45° 7 (x3) 0.5x45 NV &j
|| | [
B i
iz M12x1.75 - 6H A M12x1.75 - 6H B
i 335 | (335
A Recommended material : Rm > 900MPa @ S
ii;:;; g EFD1 06-1 1 OO DATE  YYYY/MM/DD
| 2022/0328 | 212 |
g 102 Mounting Plate Added 2023708709 |FPA DRG.SIZE MODEL NAME WEIGHT RELEASE LEVEL .
Iz oz ‘ A3 6151662170_DIM 0.000 Kg Production
§§ Z OT Eéetease for Production 2022/03/28 |VGU SCALE 1 0 BLANK DRG. ‘PROTODRG. ~ DRG.No Rev.
E%: E REV.N° |ECN.N° [POS MODIFICATION DETAILS YYY%}&/DD INIT BRAWNSY VGU 61 51 6621 70_D| M 02
\/ /\



	Views
	new_view_1
	gauche_2
	dessus_3
	new_view_5
	right_6


